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QUESTION 1

Which three statements are default BGP advertisement rules? (Choose three.)

A. IBGP peers advertise routes received from EBGP peers to other IBGP peers.

B. EBGP peers advertise routes learned from IBGP or EBGP peers to other EBGP peers.

C. IBGP peers do not advertise routes received from IBGP peers to other IBGP peers.

D. EBGP peers do not advertise routes learned from IBGP or EBGP peers to other EBGP peers.
E. IBGP peers advertise routes received from IBGP peers to other IBGP peers.

Correct Answer: ABC

QUESTION 2

When two OSPF routers on a broadcast network are ready to exchange database descriptor packets, which router is
responsible for setting the initial sequence number?

A. the DR

B. the BDR

C. the router with the higher RID
D. the router with the lower RID

Correct Answer: C

QUESTION 3

Which three configurations are required for an operational routed VLAN interface (RVI)? (Choose three.)
A. {master:0}[edit] user@ex# show ethernet-switching vlan-map vlan-id 10; interface { ge-0/0/1.0; }

B. {master:0}[edit] user@ex# show interfaces ge-0/0/1 unit 0 { family ethernet-switching; }

C. {master:0}[edit] user@ex# show interfaces vlan.10 family inet { address 192.168.10.1/24; }

D. {master:0}[edit] user@ex# show interfaces rvi.1 interface { ge-0/0/1.0; }

E. {master:0}[edit] user@ex# show vlans v10 vlan-id 10; interface { ge-0/0/1.0; } I3-interface vlan.10;

Correct Answer: BCE

QUESTION 4
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You are analyzing packet captures on your network. You observe an OSPF Type 7 LSA.

In which area type did this packet originate?
A. backbone

B. stub

C. totally stubby

D. not-so-stubby area

Correct Answer: D

QUESTION 5

Which two statements describe nonstop routing? (Choose two.)
A. RPD is running on the backup RE.

B. Graceful restart is required for nonstop routing to function.
C. Peer nodes are not alerted of RE mastership changes.

D. COSD is running on the backup RE.

Correct Answer: AC
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